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PROBLEM 10: Find the general solution of

(a) zlnlz+1+z+C (b) zhn|z+1|+Cz? (¢) zlnlz+1|+Cx
() z’ln|c+1]+Cz (&) zh|z+1[+22+C (f} Crh|z+1|+=
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7. Suppose y = y(x) satisfies the differential equation ry’ = cosz — y and the initial
condition y(§) = 0. Then y(m) is:
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7. Find the solution to the differential equation

;2
Xy = Y +x7=2x, x>2
x=2

satisfying v(4)=4.

3 g2 2 _n .
A} }I=.T 3x B] y= X C] }1=€.1: _€4.z+4

In(x)—2 z_ 3
D) _v=—"{r} - £) y="—o" F) y="—n
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11. Let y(x) be the solution to the initial-value problem Ié — 2y = z” and y(1) = 0.
What is y(3)7
(A)1 (B)3 (C)6 (D)9 (E)12 (F)1s (G)18 (H)27
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